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YEAR & — DEVELOPING NUMBER. ..
Number Sense

What do [ need to be able

-
I

L measurement and time | | Depostt: Putting money nto a bank account.
______________ [ e e

| Round to powers of 10.0nd 158 506 @ 192 e st miner s oy ar0 l e

T
| | '
| to do? | : Significant: Place. vabe of mportance :
I By the end of this unit you shoukd be, bl to: : | Round: Moking a number smpler but keeping s vave. close to what it was |
* Round rumbers to any d | Overestimate: Rounding up — gves a solution higher than the. actual vabe I
| * Estimate soltions B Underestimate: Rounding down — gues a solution bower than the. actual vaie. I
| = Cakudte usng order of operations || Metric: O system of measurement I
: * Cdevlate with money, units of : | Balance: The amount of money n a bank account |
I
-

370 to Isignificant figure is 400
37 to I significant figure is 40
37 1o Isignificant figure is 4
037 to I'significant figure is 04

5475 to the rearest 10

|
|
: 5495 to the rearest 1000 5475 1o the nearest 100

| T 1 f T f T
| Gt 6000 5400 1G> 5470 1 000037 to | significant figure s 00004
: Round to the first non-zero number ]
__________________________________________________ I
T T T T T T T e e e — T T T T T T T T T T T =
| Round to decimal places 7 44192 <« Fousonthe nmbers |: Estimate the calculation ~ Round to | sepificant figure to estmate l
To Idp" — to one number after the decimal e the decil ot :| l
I, Adp” —to two numbers after the decimal |l 42+67 =4+7 =l This is an overestimate because the 67 was rounded up more :

\The equal sign changes 1o show it is an estimation |
Aldx 3.l =~20x3 =~ 60 Thssannderestimate because both valies were rounded down:

2.4 6192 Tsshons !
the rumber is ||
closer to 25 ||

1
2.46 192 Thsshoustre |l

| A.46192 (to 1dp) - & th chser to 24 or 25

VR 25
|

| 240192 (t0 12dp) - k th closer to 246 or 247 It 1s good to check all calculations with an estimate n all aspects of maths — it

|
helps you identify catulation errors :
|

. , — number is closer |l
:. w 247 v\to 246 (|
e e e — e e e d e ___ —
______________ A e T T T T T T T T T T e
| Order of operations © | Caluations vith money 'Y Y |
| Bfmketg Operations n brackets are catubted fist | | Deb[t - You have. £0 or more. 1 an decount Morey cacultions are {o PR :
: Other operations eg poners, roots, ” Credt - Yoo e b thun £0 [ 2dp 28 ¢ |
. ) . - You have kess I dn aceoun
| Muttipication/ Division I l
| They are carmed out n the order from kft toright inthe || 5 s mm _ﬁ. l
| auestion i i Using a cakulator — ensure you are working in the o, & z » :
| i ; 1l correct units - - —
Oddition”” Sublraction I £130+50p - 130+ 50 n pence) £1- 100 o <) 5, |
They are carried out in the order from kft to right i the B Y p " - |
| queston 1 =130 + 050 (in pouinds) |
- _ e ___
|Units are important: useful conversions <1000 '
| ml — L |
| +— |
I________._______________________________._____"_lﬂ"’____l
e o T T = ———————— . . T T T TITT T TTT—
| Metric measures of length | lew= 26 o |
- 1 dhowr - 60 mnutes
: fib = 1000 x meter Centi - 755 ¥ meler : | (4 . | minute — GO seconds |
| "oy 1 Year—the amownt of tme t 30 das —~ Opri, Jure, Sept, Nov I
| M- ﬁ X meter : ' takes Earth to 0 around the A8 dags — Feb (29 kap year) |
| I sun 365 (and & quarter) daus I week — 7 dags Use a number Ine for :
e e e s e = Leap Year — 366 das (every Monday, Tuesday, Wednesday, time. calculations!
| Units of weight/ capacity : | 4 years) Thursday Frday Salurdy, Sndg :
| | o .
| Weight = g kg t I | 12-bowr clock Dital Cock (24-tour {imes) 24-hour clock I
| Capacity (vokme of lquid) - mi L | | Use am (moming) and pm- (sftemoon) = 01l |
I ]| | " Only use hour times vp to 12 TOwl © 12-23 (afternoon hourib
-— T Tt



What do | need to be able fo do?

You should be able to:

* Understand properties of addition and
subtraction

Understand properties of multipication and
dvision

Use formal methods of addition and
subtraction for infegers

Use formal methads of multiplication and
dwision for infegers

Add ond subtract directed numbers
Multiply and divide directed numbers
Understand and use order of operations
with posifive and negative integers

" , 1 Formal written method:
Addition 1s commutative |

7

* Number lines

1
1
Models to help with addition :
1
1

Key Words

Gommutative: changing the order of operations does not change the result

I
]
1
1
1
]
Associafive: when You add or mulfiply you can do so regardess of how the numbers are grouped :
Inverse: the operation that undoes what was done by the previous operafion |
Subtract: taking away one number from another |
. 1
Negative: a value less than zero !
Debit: money that leaves a bank account !
Credit: money that goes info a bank account !
Infeger: a whole number !
Product: mulfiply terms .
Operation: a mathematical Process H
}

Formal written method: " IModeks fo help with addiion

| * Number lines

w6 w1 Subtraction is NOT 20 20 s

1
i 1 - h
1 1
I 1 1 :
1 1
} 1
1 | 1 |
| Ve or 3322+ 5 1 L | | + H-9-0-5-12
! I HoT U PR 2 P commutative or associative | H ZTA U g e
30 0 Iy -~
Y B AL AR A I x , 5. 8.2, !
1 roy, | 4 9 I« Bar models 1 , ) P \ * Bar models B
] The order of addton doesn't change the resuit [ -
T e T ewea il 28812 —2l e |
! ' WERL A K | 3 16 [T s ==
1 ———— e 1 1
- X | I 1y
: Addition Is associative : ! | Part/Whoe dograms 1 ! 1 * Part/Whole dagrams :
: ( ) ( ) ) , @ : : ! Remember Ois a | @ . 1
i . ) 1 ploce halder! Sogs |
! ' Remember the pl i it 1! When you subtract, the : waa
6 BeUl6r3y emeroer e pace 1 order must stay the same. 2/0/s8]|" X
X : ' value for each columnl ! @ @ ' oy = | Q e :
| it doesn’t mafter how you group the numbers | | 1 | | —_ O O L,_ | X
L
.

______________________________________ 'L____________________________________.
e e SE R e T TTTTT D S e '
5 — b . o I

| Written Methods for Multiplication ~ GELOSIA + EEPEATED ADDITON 1 Calculations with Directed Numbers :
1 LONG MULTIPLIGATION: ! GRD METHOD ! I rEar LR , !
X " , :
' v [ Tooolw0 v ST 2w 7 ) Addfion . Subtraction !
! ' X 7 : s L2 |/ | 1 2+-3 1 2--3 '
: 2 4 1 Blelwla | A A — A A T R e R e, ;

! i neteg e ek«
LX 2 3 0 e0c10-21-74 e 2] W1 7 e : st e !
1 I ! I 74 1 0 !
:u Ty : ,1“2:5 2-3--] 1 2+3-5 E
I I 1
,l.':__________:____:_.'___'__:____:__:___'____:::__:__::::::::::::::::::::_‘I: Generalisation A e e
1 . o 1
LONG DlvIsion Ths mefhod reles on uou 1! o .
+ Written Methods for Division L0 puson. sesemtiaen 11 Mulfiplication Division :
' SHORT DIVISION: 'SHORT DIVISION wit remongers ' 0 4 2 e !
! I 1 ' o 2x-3 i
: : \ 6 I 2 5 2 1 : ‘2 lots of -3’ Remember that mulfiplcation :
: 0 I 4 ‘ | |2 l5 RRI [P I P : | - and dvision are nverse :
i 612 5 ' 2 l 2 5 | | —‘O—ﬂ-—l-——-z-— : : operations. |
' Ho-2x3 :
! I I 1 X 1
: I 0 2 1 Confinue after the decmal 1 0 | 2 exz ‘: : Think of this as the Fgo+-3--2 :
1 pointl If you sfart to et a negative of 2 x -3 - 1
: 818 1'% : repeating decmal, stop : 0 , : egi 02°3 :
= === - - -
e P 1 . 1
T i TBame 2 B@mEs "7 11 Generalsafion | Models fo help !
r Ord fO i | ] . h . |
+ + U - - . [N} - : f

\ Order of Operations 1,75 R TRl ey Rt O
' VAN So we need fo evaluate the  So we need fo evaluate the ISO IF"?T \T"_’e %Th-e ettt T+ 1+ ] — i |
! G N brackefs first; Ux7 <28 ' brackets first and we work m T'Pm on . vson e o: : 3 occounts when s :
| L4 Ulefttoright 6+ 4 - 3-7 'gghT' ‘- I61h3 WPRNE I [y iy s ‘ |
! LE3 This is now 28 + 3 = 31 : This is now 7% x 4: ;;Zx 4 :S(ft:/:r:vc?i:: f‘r;moﬂtlol‘r:) N : ¢ ';/"1, '
: [ = —  ngi-R2e3-9 o ' :



' What do | need to be able fo do?
1 Jou should be able to -

+ + Round numbers to an appropriate

1 accuracy

E » Truncate numbers fo an appropriate
\  accuracy

++ Use inequality notation to identify the
,: error inferval due to rounding

the size of the number

= Error Inferval: The range of values a number could have taken
before rounding

» Estimation: finding a number close to the right answer

» Lower Bound the smallest number that would round up fo the
estimated value

» Upper Bound: the smalest value that would round up fo the next
estimated value

,: * Significant Figure: the digits in a number which are significant to

« Estimate the value of a calculation
HIGHER TIER ONLY

1 [ 3
 Place Value ' Bound fo Powers of 10 -
e — ! b 1
! “Three millon, two : 1 2745 1o the nearest 10 : 2745 to the nearest 100 : 2745 1o the nearest 1000 1
: hundred and forty 1! :
I seven thousand, fhree 1] — } — | — — | == =
| huncred ond fiffyone !y 2740 2750 : 2700 2800 : 2000 3000 1
=4t e 1 ) h = P ,
! Fom T i | (ROMSRERE | mem o !
1 q‘ 5 11 rondup | | 1
b e e e e e _ oo m e m e e N
T e Tl bt LYoy geiufyieyiefieaeofitetot bttt
H “To I'do” means 1o one v ofter the decmol 'l o a/e8 & !
+ Round fo Decimal Places % s Round To Significant Figures Sor ounteg s somas u et toarenzero gt 1
: Method | " Method 2 :: Rounding to | significant fiqure (1 sf) Rounding fo 2 sianificant fiqures (2 sf) :
1 Round 746582 to | dp | Round 74658210 Idp |1 Round 1394 fo | sf- 1000 Round 1394 fo 2 sf= 400 '
L= —— 1y, o 11 Round 265 1o I'sf - 300 Round 265 to 2 sf = 270 )
LTy Teess2 75 | g P /! Round 32 fo Isf = 30 Round 32 10 2 sf - 32 ;
. | 1, Round I87 to Isf =2 Round 187 fo 2 sf = 19 |
I' Round 746582 t0 2 dp I Round 746582 1o 2dp :: Round 0.439 fo |'sf = 04 Round 0439 to 2 sf = 044 :
: - l | | 1, Round 0008722 to | sf = 0009 Round 0.008722 1o 2 sf = 0.0087 1
Doy Twsz  gyy | 746582 D awerondwto 1! Round 00005043 o I sf - 00005 Round 00008043 o 2 s - 000050 !
e e oo e e )
_____________________________ e Tttt T Py pstgubutyyslysiychschlyllyulest sl tvstivoatpaluntiostiostoctvatont
l ! | ! ! number rounded, i Ve N If we hav '
' Truncation | e 1y EXIOF NIVl o st e e s s
2 i » hat @ rounded number be, we use upper and lower bounds
! Truncate 3828 to | decimal place 3828 SZ?LZ?‘S?“"‘ e ey A plont 1s 35cm fal, rounded to the r:eorestou | e e e s e g e b | The speed of o fran s 230 km/h :
! Wergere o ditsotr e | : [ mP, what was the shorfes! and falest | A number was rounded fo 3 decmol ploce: | Truncated fo 2 significont figures What h
: 3828 f,;;:g'e S gm 5o the anower : Tr;r;cgtz 3353;3 ;:»‘ ;T:iﬁ:::fures' : besht of he pn? n:) |Zz;vze 0673 Whg; ;;)uld the num!;e(;ie vag?e range for the frue value of the :
] 5 sgnfcont fgure So the onswer 382 1| 3lUem 35cm 36cm I g " 1 I 230 240
: Truncate 3828 10 2 decimal places | T35 e ot : : H ; — | - ! L S } i :
: 3828 x;ﬂ;;mﬂioge:hﬁmwey : Truncate 0.003728 1 to 3 significant figures : : | | ez :
! i souma e | 00097281 , ' | e :
! cak gt a dfferent orsner 589 | ! 345em < height < 355cm 1 06725< x < 06735 ! < spee X

etttk T e el debellete e —— T TTmms
+ Estimating Calculations .11 Using Error Infervals in Calculations !
| |  Estmofe thevaueof  (42x24) ! ) :
| Estmale the vakie of 28x 45 | W n | A =30 (o the nearest whole number) i
| = [}
] | I Abag of peas has a mass of 700 | B - 115 (fo the nearest | decimal place)
We can estimate that (4.2 x 24) 15 ! g or peas ha 9 o ! !
: ngvse round both fo | sf, this : approxmalely equa fo U x 2 (3 : : {fo the nearest 10g) Find the : C =300 (to the nearest | significant figure) :
N 50 - ! maximum mass of 5 bags of peas.
! 9050 1500 | Now fo deal with V51 We know that 4 | : g orp I X
3 | asquore number ond it s close fo 550 1 | 1
: Therefore 28 x 43 = 500 | we can qu fhat Vs approxmately : : Maxmum weight of one bag of peas: I :
ual to v (2) 1
| : - i 690 790 7',0 I' Caloulate the maxmum value of A + B '
I Estimate the value of | Thesumbecomes [4x2) : 5 h : { T — | h
, 693- 12090 234 : i x : !
= 705 .
| We con approwmate ths sum | o (825207 <3 ' : — | Colculate the mnmum value of A x ¢ :
1 fobe (60-12)+20-25 . 1
] : s : : Therefore, the maximum weight of : :
| Therefore, 't 5bags of peas = 5 x 705 = 3525 ' . i
' 593 - 12091+ 234 = 25 : : ! gsorp 2980 Caloulafe the maximum value of G = B :
! | ! 1 |
i 1! ] |



What do | need to be able to do? 5

You should be able fo: |

* Understand and use factors f

* Understand and use multiples

* Recognise prime numbers

* Recognise square/triangular numbers

* Find common factors, including HCF

* Find common multiples, including LCM

* Express a number as the product of
it’s prime factors

* Mulfiple: found by multiplying any number by a posifive infeger
* Factor: infegers that multiply fogether to get another number
* Prime: an integer with only two factors (I and itself)

HCE: the highest common factor of two or more numbers

* LOM: the lowest common mulfiple of fwo or more numbers

* Product: mulfiply ferms

‘The muitiples of a number make up it’s fimes table’

ON-EXAMPLE

| Why s 10 not a mulfiple of 42

4 X 2510 but 251s not an
interesting therefore 10
| cannot be a multiple of 41

I

X | . P! ,
i Factors | Hov o fnd foctors N Multiples
: A number can have many factors| . o » P 0 ) 2
. | Be systematic! Always find ! ! Eg What are the mulfiples of 47 Is 15 a multiple of 37
1 Example: what are the facfors of [27 Wour facfor parrs andthen ] ! !
L ixI2 e e '“Lfsz—e”g’ﬁb R N TE S T—
1 2x6 1 order This wa lou can be ! 4 8 12 16, 20 equaly szed parts, 1515 o
[ ' sureyouve nof mssedany 1| I mipeots
! S0 the foctors of 12are |, 2,3, 6, 7 ' oul ! This st never ends P e
l.___.._______-..__....___.l. _______________ el
| Dy (oo T T T | | s — [
: Prime Numbers e i1Square Numbers |
N D s poe e SR Bl Rl | N smallest, and . ¢! I
! ”112?13‘&13115 L18,5/®)2 only even, prime number ': |
. Awous on infeger 2122|2324 25 2627 28 29|30 . ] ;

N P P P o o] i I
: * Has only two factors; ??f.f?_s.al_aﬂwi Bl Lis not a prime number :', ) anonorattermseomon
| . 41142]43 /4414545 47148 ] 45 50 | ————
t londitsel 5152 %0 safs soor s s w0 | L v1[14,9,16, 25, 36, 19, 68, 51, !
! SL %2500 65 60 8 8818070 | furtors, and et | |1]100, 121, 144, 169, 196, 225, |!
1 Not in any other fimes 71172 73774,'75”6‘77:73,@30_ only has | factor :: :
| 1o oport from 'S oun o1 52 9 ot [0 0 a7 009 30 | ) reretorert | + Sauore numbers hove an odd !
: 919293 |94] 959697 98 | 99 | 100 isn’t primel 1 number of factors I
e N TT————

Product of Prime Factors

Example |
Write 12 as a product of it’s prime factors
Both of these trees

2 represent the same
AN \6 decomposition
il
é b 2-2x2x3
@5 =2°x3

They're called tranguior umbers os they make o trongel

triangular numbers, you geta
square number!

13,610, 15, 21, 28, 36, 45,
95, 66, 78, 91, 105, 120.

Example |

[SA IO

match is 24 therefore:

the LCM of 6 and 8 is 24

Example 2
Write 130 as a product of it’s

prime factors

Using prime factor decomposition

If we know that 12 written gs o
product of it’s prime factors, how does

/'80 that help us to write 36 as a product
920 of it’s prime factors?
/
45 We know 12 x 3 = 36 therefore we
\I5 can multiply our answer by three and
36:2x2x3x3
d® 223

What about 1207
Well 1201is 10 x 12 so we can say
120=2§<2x3x 10

2 xégé

B0=2x2x5x3x3
2% 35

—_—l A

Awoys try to write your final answer n ascendng
order using ndex notation

Remember 10+ 2 x 5

Highest Common Factor (HCF)

The first time their mulfiples

Example 2

What is the LCM of 6 and 87 ) What is the LCM of 6 and 87

o0 @25‘@

We ust mutol ot of
1 themumbers m e
f' Vern dogrom fogether
4 tofodthe Lomy

3 i‘tzj‘z
Z?

LCMof band §=3x2x 2x 2

Example |

36
4,8

0o

6-,
8-1

a factor of both 6 and 8 is
2, therefore

the HCF of 6.and 8 is 2

What is the HCF of 6 and 87

The biggest number which is

Example 2
What is the HCF of 6 and 87

faslor we o kokng
for the factors wheh
the o mumbers shore
These con be faund n
he overoo n the Vern

HCF of 6and 8- 2

1
1

I

1

1

1

]

1

1

: If you add two consecutive
]

1

]

1

]

1

1

1

| Example 3a
What 1s the LOM of 24 and 167

l Choose and foctor
of 24 ond 16 fhere

I Wroftead2e-2x2x2

! Example 3b
) What is the HCF of 12 and 157

1 215
35

[} HCF of 1200 52 3

______.-_______________-_______..

we chose 2)
thenwe duce 24 2 2 8
ond ibby 2 2 6 4
il L
aumore cammon
| fetos
LCMof lbond 24 » 2x 2x 2x 3x 2
1 248
Example 3b
1 What is the LCM of 12 and 157
| 1215
3% 3
] LCMof 12and 15 3x 4 x5
60
| Example 3a
What is the HCF of 24 and 167
| Asweore
arean ks 24 1
i) 8
e et g3 6 4
1 7o 3 2



You should be able to: 5
*Add/subtract with indices !
* Multiply expressions with indices

* Dwvide expressions with indices

Anow the addition law for indices
finow the subtraction law for indices
* Be famiiar with the Key results
Work with negative exponents

——-——-————_——_-—-_—__-—_

* Base: the number that gets multiplied by a power
* Power: the number of fimes the
* Exponent: power (see above)

* Index: power (see above)

* Coefficient: a number used to multiply a variable

number is used in q mulfiplication

2 1o the power of -2
the same s | over 2t
the power of 2 (or 2
squored)

HIGHER TIER 0N Y * Variable: a letter which represents an unknown number
* Commutative: changing the order of the operations doesn’t change the
ang g
_________________________________ [e_su_lf________________________________________‘
e TS = B e R b — " |
P POwer/epment/dex v ddiion Law for Indices ! Further Examples st + Spotting Patterns ;
- 1! 1 m:n:uwr 1
3 2 coefficent u | ‘ ; L Uwxsz U x5 xwxz - 20 i 3 |
! { ! I m N_ _men ! ' ol the coefens ) ! - ]
| | i1l a'xa"=q o e i1 2 T 2x2x2-8 -
! I 1! ‘ T ' Eahime agg |
: I ! |' ! 2 30 X L"O%( 20 Remember if there s no | : I ggmrlhe 1
' bése ' | Examples ! | -3 $x2xaxoxaxg perwieise | ' 22 =952-U g by 2 '
e L X ax2xaxaxzep 112k ¥ !
aeree EEEOOH e |
L } L6 ] = MUl f by fself I - wer e 1
| ERACTIOAL INDCES. 1§+ # % xkxhshanan-i | atxtancxt 41 20e2 il
' ittt o ' T 0 Therefore, 2 1o the !
| —— DL 1 lf “““““““ ! . ) 6 ! power of O1s | 1
B 1 . b _T 'L 2 = ,  Remember anything to 1
: 1 . . 3p2x qp3 : l| the power O s | ll
! ! BRERT AR D) g 7 e
,' 1 Q-qQ = Omn 1 ll P : 1 2 = 7 the power of anegatie |
1 Exampl ! |1 Doy : ‘if H o '
h ples | I, Dont forget - ! !
L i, ! Examples 11 about the order it ll: PR b
25 \/55_5 g \/8__2 ll : :' of operations! ) : 1' 2 =y =72 R lI
| | ' |
1 1! by 1
1 1! H 1
I 1! ' 1
1 1! : 1
I

Examples

3
3
25" (4755 g5
Remember that this

53
s the same as (25°)

Harder Examples

(Bl - VB = 9x

9) - (Vac") - (3¢ - 975

(52" - (V32 oY = "

It1s realy helpful to
know the powers

of 2
2
Refer 1o the lodger
’4 on the rht f youre
8 shruggng to spot
e patterns!
lo
32

| When working with indces, it is helpful to know your Square and cube numbeys!

| SQUARE NUBERS ! GUBE numegRs 1] xa’mq" :
1 | ! |' |l
I | b m_ n_ mn 0
LY 9, 16, 25, 36, L1827, 81 125, x sl el £
196481100, 1211 216,343 512 ! |
144, 169, 196, 225, | eptedlo 1| g's | !
Il | Know thesel : : ]
et T L gl =5 :
| T e : ek T I
:' NEGATIVE FRACTIONAL INDICES | EXAMPLE 3 o ! ! Vi
UL TEMPE? s, IGHER TER 011 "
! EXATPLE | PR B Jjp— |
' g ol | 257 ll?féhe [ CTERE i OT‘T= "'O .
" &= 3 Bememberths ] @’ ) _l_ ) Xs Rementer et : ,' ,'
1 R | : : ﬁ-. 0= ',
' —d ,I =% | - ﬁ X % " 40 ¥ a ('\/Q-) :
' e I i |



—————————————————————————————

| What do Ineed fobe dble to do? |

+ You should be able to -

. Write numbers in standard form

e Convert numbers written in
standard form o ordinary

numbers

,: Standard Form: a system of writing very big or small numbers
 Commutative changing the order of operations doesn’t change

1
I
1
}
1 1
1 1
I 1
1 ] 1
] 1 !
] 1 ]
: ;o !
1
E * Order numbers in standard form ! ' the result !
. T 1
e Add/subtract numbers in 5 E Base: the number that gets mulfiplied by a power !
! standard form 1 Power: the number of times the number is used in a !
re  Multiply/divide numbers in 5 « mulfiplication E
1
| standard form 1 1|ndex: power (see above) !
i Use acaculafor when working 1 } Exponent: power (see above) 5
. 1 .
! with sfandard form ' 1 Negative: a value below zero !
 Converting ordinary numbers into standard form E E Gonverting standard form info ordinary numbers ':
[}
. Any nfeger i bromples I E 1 Example | l; Example 2 |i ﬂon-Exar;]Qles . x |:
1 | 1 i must be
: o | 700 | 12500 | 000034 11, i | ws o | nzt ‘ 10 - 1200 o D
h X mus! be between fand 10 P 1 1 n;usw e:n > 1
! [ -7x10%10 | <125x10x10x0x 0] g?g;:ﬂ;;gfmpz'm:: =2x10x10x10 I ~ypxi0xp0 ! anua ' 184X 10 - 462
| Any number | | | ' | | ] .
 petweenlond 0 17, 02 e igs 00 TP o) | up ! A s
! I I 1 | I 64x8-32768 (5
I ! [N} . . N 1

Ordering Numbers in Standard Form Lo [0’ [T 0T 10§ 0] 07 7] '

' Index Laws Recap

| ©
[ 1
[ 1
' 10" uxox0- 1000 H131x 107 Hi2x 10* 2x 0% 320’ 24x 107 :
| =9 | | | —
wer, I
: IOZ = ox0- 100 it by 0 E : 310 41200 002 3281 0024 |

,,,,,,,,,,,,,,,,,,,,,,,,,,, —~ —
| fome ey 2 x 10 24x 10 31x 10 3281x 10 LiZx 10 |
0! = 10 power (e | N oo P g e
! by 10 e Tyt
! T o e T T — S S S S — =
rolg neesove 1 Addng and Subtracting Numbers i~ ! Mulfiping and Dividind Tubers 1 ;'
_ wer of 015 I
L0 = | Wmece® U1 Standard Form ' Standard Form :
I 1 ! 1
I

! - If we carry this on, we i 6 3 I : X ¥ X
E IO = :_O ;;gr;::;rgms%:\;vmt 0 : : (2 I X IO ) + ( 33 X IO ) : :' I . 1L(2 'dxd IO ) Xb(l 33 X IO ) - :
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